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6. Four students A, B, C and D are debating on what day of the week is today.
A say, "Today is Saturday." B say, "Yesterday is Sunday."
C say, "A, B didn’t say it correctly.” D say, "B, C didn’t say it correctly."
Actually, there are only two students tell the truth. What day of the week is
tomorrow?

A. Sunday B. Monday C. Tuesday D. can not be determined
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The diagram at the right is a 4x4 grid which contain several

rectangles(¥E#). How many rectangles are there that contain the

shaded portion and also those contained which contain the

unshaded portion?
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17. AB and CD are two line segments of equal length that A
are perpendicular ( £ ) to each other at point O as
shown at the right. If AO=4, BO=2 and CO=DO=3, 4
then what is the area of that triangle that formed by 3

the extension of line segments AD and CB? 2
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